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PART—I / <i9—I
CHILD DEVELOPMENT AND PEDAGOGY / ™1 fSmi @ fre-taiait

Directions : Answer the following questions
by selecting the correct option.

1. Jean Piaget was a

(A) Biologist
(B) Neurologist
(C) Psychologist

(D) None of the above

s |

1. G RIS e @6
(&) iR
(B) =R
(C) e,

(D) T°[Cad (FFIH2

2. Learning depends on cognitive 2. g oifam T el Toi s

development
A) TP

(A) always A)
(B) sometimes (B) CIT CPIeT T
(C) never (C) PR ™
(D) None of the above (D) BofCR IR

3. Which of the following is not a sign 3. fcre il e oo e
of ‘being gifted™? w7
(A) Imaginative thinking (A) TP fosr
(B) Poor personal relationship (B) v fore i<
(C) Creativity (C) &TeiteTe]
(D) None of the above (D) THEE @i

https://www.freshersnow.com/previous-year-question-papers/
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In the classroom situation,
administering a ‘diagnostic test’
(not standardized) before or during
instruction refers to

(A) formative assessment
(B) summative assessment
(C) Both (A) and (B)

(D) None of the above

is not a product of learning.
(A) Skill
(B) Knowledge
(C) Maturation
(D) None of the above

‘Stanford-Binet Test’ measures
(A) personality

(B) reading efficiency

(C) intelligence

(D) None of the above

The basic unit of heredity is
(A) gene

(B) chromosome

(C) zygote

(D) None of the above

Mental age and chronological age of
a student are 8 and 8 respectively.
Then his IQ would be

(A) above average level
(B) of average level
(C) below average level

(D) None of the above

QAT AT Preme ol A
EFZMCE P @ ‘diagnostic  test’
TS 2 (standardized ) OF Il
X

(A) TACGS SHICPLTD
(B) S SHICFD
(C) (A) @ (B) T2
(D) ToICad (FIGE

_ TReTR e
(A) WSl

(B) &=

(C) =If=er

(D) TR (@DR T

‘Stanford-Binet Test’ &7l FF
(A) feces

(B) “f¥H TR

(€) g

(D) Tolcaa (FAIGE

. Iefeq 2Afie 9T 29

(A) fem

(B) CHFICAICTH

(C) wiZeaib

(D) T°[cad (FFD2

G0 QI TAPTE T G} 4F© TP 2

FAFE 8 32 8, ©BE i 1Q 2(q

(A) % @ BEF @
(B) 1@ @ B

(C) % (& B Mo
(D) TR @R

https://www.freshersnow.com/previous-year-question-papers/
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10.

11.

12.

13.

Education that teaches the values of
cultural diversity is known as

(A) Multicultural education
(B) Cultural education
(C) Multiple education
(D) None of the above

Kohlberg’s theory of ‘moral

development’ is consisting of
levels of moral development.

(A) two
(B) four
(C) six
(D) None of the above

The concept of ‘mental age’ was first
introduced by

(A) William Stern
(B) Alfred Binet
(C) Wechsler

(D) None of them

The principle of ‘spiral versus linear
advancement’ is associated with

(A) personality and attitude
(B) reading and writing

(C) growth and development
(D) None of the above

The word ‘emovere’ indicates a
state of action and to move.

(A) Greek

(B) French

(C) Latin

(D) None of the above

10.

11.

12.

13.

@ PrF-fRwe e Fesprests [femerg
eNCqY (values of cultural diversity)
SROCE G AR OIS T 2

(A) TEGFETRE GO
(B) FIETHRIST GTCF
(C) WBe@T G
(D) TR (P2

@R fes [Fo@m ogioee
T i KPR B (level) IR |

(A) 72
(B) B
C) =
(D) T°[Cad (T2

“TFIPTE T -4 IR 22 2P R
(A) T2feRM B

(B) & [

(C) STERETEN

(D) ToCad (PTR

‘Spiral versus linear advancement’

AsH

(A) TfET ¢ TSRS A IS
(B) “I%l € 4R Ao HIS

(C) I e Rleea et TS
(D) T°[Cad (T2

N Bee’ e G0 ORkE |
e afeRie 8 AiaFg 3¢ (o |

() T

(B) &%

(C) =TT

(D) TR @Hbe

https://www.freshersnow.com/previous-year-question-papers/
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14. ‘Thematic Apperception Test’ is a

15.

16.

device for measuring

(A) intelligence

(B) aptitude

(C) personality

(D) None of the above

Drawing a geometrical design is a
type of learning.

(A) verbal

(B) motor

(C) Both (A) and (B)

(D) None of the above

Which of the following is not a
structural element of personality as
proposed by Freud?

(A) I1d

(B) Superego

(C) Ego

(D) None of the above

14. ‘Thematic Apperception Test’ =2c

15.

16.

G G0 TerF TQ ARG AR F)
q

() s
(B) 2RTo™
(C) wfEced

(D) T @Fbe

e foaq oF 26 9F 2FF
P |

(A) SRS
(B) (7M1
(C) (A) 9% (B) 70518

(D) ¥ @Fbe

TNeesltE W @FWG Freud 2ve

GfeCega o10mge  (structural) SO
T ?

(A) 2T
(B) eIr==eal
(C) Z¢an

(D) TR (@bR

https://www.freshersnow.com/previous-year-question-papers/
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17. ‘Acceleration’ is a measure which 17. ‘Acceleration’ &b PSR ISEICERY

is generally used to solve the QICwd TP NG O 297
problems of

(A) =i PR 7wl Ry

(A) economically backward children

(B) Prwicwca Pifeca «ror Py

(B) academically backward children

(C) mentally retarded children (C) FHPRFer 2feTa fry

(D) None of the above (D) TR @FAbe T

18. ‘Rorschach Inkblot Test’ is a/an 18. ‘Rorschach Inkblot Test’ 2&

technique for measuring TS TG B TrSCed “IFw7 Tl 37 |
personality.

(A) ATFATETS

(A) projective
(B) non-projective (B) -2

(C) associative (C) SrEHETR

(D) None of the above (D) ToCad (P62 7

19. Which of the following can be [ 19, fyfeReshm W @@G MRofeRuEg

treated ~as the best adjustment CFCE A S w2
mechanism?

(A) Rationalization A) e

(B) Regression (B) W@%

(C) Repression (C) Sm

(D) None of the above (D) T4EF (@FFhe

https://www.freshersnow.com/previous-year-question-papers/
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20. describes the child as a ‘moral 20. rytwa ‘moral philosopher’
philosopher’. f2o1C <121 FeacR |
(A) Piaget A) PrIS
(B) Erikson (B) g
(D) None of them (D) TER (T3 =
21. ’;l:lee causes of learning disabilities 21. G SFReE (learning disabilities)
Y 257
(A) genetic factors A) &
(B) organic and environmental
factors B) * AT @R “AfceTe
(C) Both (A) and (B) (C) (A) @R (B) 7b12
(D) None of the above (D) TAER (I b3 T
22. The concept of ‘emotional 22. ‘Emotional intelligence’-9g SIERIIE
intelligence’ was first formally 1990 AICE 2 SPTTSICd Sead T
defined in 1990 by
(A) Tom oienfe
(A) Peter Salovey
(B) w=. . (=
(B) John D. Mayer
C) (A) ¥R (B) q&=2
(C) Both (A) and (B) (©) (&)« (B)
T (T2
(D) None of them (D) i
23. Which of the following refers to the 23. wq@gﬂ%?{ 0 o G = T%
ability of a student to speak two ONE Pl WY AFT TSP 2
languages fluently? e
(A) Bilingualism (A) RIeTITETS
(B) Semilingualism (B) @ ig@ STe]
(C) Multilingualism (C) IFBlmIeTey
(D) None of the above (D) TR @i
https://www.freshersnow.com/previous-year-question-papers/
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24.

25.

26.

In the hierarchical theory of Maslow,
the needs are classified as

1. physiological needs

2. self-actualization needs
3. needs to belong

4. esteem needs

S. safety needs

Which of the following is the correct
sequence of the hierarchy of these
needs from bottom to the top
according to Maslow?

A) 1,2,3,4,5

B) 1,3,2,4,5
€ 1,5, 3, 4,2

(D) None of the above

Phenylketonuria (PKU), which may
lead to mental retardation, is a

(A) metabolic disorder
(B) personality disorder
(C) psychological disorder

(D) None of the above

The smallest meaningful unit in the
structure of language is called

(A) symbol

(B) morpheme

(C) phoneme

(D) None of the above

24, FPICET-99

25.

26.

hierarchical TSl

sifeiesfer ze
1. “T@ﬁi@ﬂ (Physiological) Bifzwl

2. SCAERI
sifem

3. WEfe (Belongingness) bifav]

4. PTG (Esteem) ey

(Self-actualization)

5. f=ere] (Safety) vifznl

fafeiesfer T @E  TPICeT-9F

[P YR hierarchical IEGERRIK
(A5 AT TUR) 2

A) 1,2,3,4,5
B) 1,3,2, 4,5
() 1,5, 3, 4, 2

(D) TR (DR

Phenylketonuria (PKU) A PR
dfeqsdel (mental retardation) f
FACO “ICd, 26 G0

A) Rensi anfy

(B) wfecea Tom
(C) W=IPRE A

(D) TR (@DR T

S| FOCHAE FUO] T2 SRICP 9T B
(A) Pree
(B) ==CEF
(C) &y
D) TEE (@2 o/

https://www.freshersnow.com/previous- year-questlon -papers/
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27.

28.

29.

30.

When a learner follows the learning
method from ‘general to specific’,
then the method is called
method.

(A) deductive
(B) inductive
(C) mixed
(D) None of the above

Who assumed that every function
of a child’s cultural development
appears twice—firstly, inter-
psychologically and secondly, intra-
psychologically?

(A) Kohlberg
(B) Hull
(C) Vygotsky

(D) None of them

‘Operant conditioning’ theory was
advocated by

(A) Pavlov
(B) Skinner
(C) Thorndike

(D) None of them

Ivan Pavlov was a/an

(A) American Psychologist
(B) German Psychologist
(C) French Psychologist

(D) None of the above

27. T4 GFG FEER TNES (A Wwe

28.

29.

30.

P o[afe SeTEe FCF ©I OIS o =
AE(S |

(A) SRR

(B) rCr=eT

(C) =

(D) TR (@DR

PR ToqM SpIca Afsit Mg cultural
development-@3 2GR ‘iﬁ? g1l
IICT—2Nh inter-psychologically @3R
2oL intra-psychologically ?

(A) ezl

(B) =1

(C) =il

(D) T (LB

‘Operant conditioning’ &b TR
A

(A) “hTeeTe

(B) =

(C) feizs

(D) TCAT (TR

RO “feeTe R qFe
(A) SCATRTT T,

(B) i cemifam

(C) @ WY,

(D) T°[Caa (T2

https://www.freshersnow.com/previous-year-question-papers/
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PART—II : Language—I
ENGLISH

Direction Read the passage given
below and answer the questions (Q. Nos.
31 to 35) that follow by selecting the correct
options.

The Alaska pipeline starts at the frozen
edge of the Arctic Ocean. It stretches
the largest
in United States,

ending at a remote ice-free seaport village

southward across and

northernmost state
nearly 800 miles from where it begins. It is
massive in size and extremely complicated
The pipe
windswept plains and endless miles of
the
through

to operate. steel Crosses

delicate tundra that tops frozen
It

canyons, climbs sheer mountains, plunges

ground. weaves crooked
over rocky crags, makes its way through
thick forests, and passes over or under
hundreds of rivers and streams. The pipe is
4 feet in diameter and up to 84 million
gallons of crude oil can be pumped through
it daily. Resting on H-shaped steel racks
called ‘bents’, long sections of the pipeline
follow a zigzag course high above the frozen
earth. Other long sections drop out of sight
beneath spongy or rocky ground and
return to the surface later on. The pattern
of the pipeline’s up-and-down route is
determined by the often harsh demands of
the

tortuous lay of the land, and the varied

the arctic and subarctic climate,

compositions of soil, rock, or permafrost
(permanently frozen ground). A little more
than half of the pipeline is elevated above

the ground. The remainder is buried

anywhere from 3 to 12 feet, depending
largely upon the type of terrain and the
properties of the soil. One of the largest in
the world, the pipeline cost-approximately
$ 8 billion and is by far the biggest and
most expensive construction project ever
undertaken by private industry. In fact, no
single business could raise that much
money, so 8 major oil companies formed a
consortium in order to share the cost.
of

Today, despite enormous

supply
breakdowns,

problems

climate, shortages, equipment

labour disagreements,
treacherous terrain, a certain amount of
theft, the

Alaska pipeline has been completed and is

mismanagement, and even

operating.

31. The passage primarily discusses the
pipeline’s

(A) operating costs
(B) employees
(C) consumers

(D) construction

32. According to the passage, 84 million

gallons of crude oil can travel
through the pipeline each

(A) day

(B) week

(C) month

(D) year

https://www.freshersnow.com/previous-year-question-papers/
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33.

34.

The phrase ‘resting on’ is closest in
meaning to

(A) consisting of

(B) supported by

(C) passing under

(D) protected with

The author mentions all of the

following as important in
determining the pipeline’s route
except the

(A) climate

(B) lay of the land itself

(C) local vegetation

(D) kind of soil and rock

Direction : Fill in the blanks with the right
alternative :

36.

37.

38.

Water turns ice.

(A) into
(B) from
(C) out of
(D) through

It is raining she still wants to

go out.
(A) although
(B) unless
(C) and yet

(D) since

of these dresses do you like

most? I like

(A) Whose/the blue ones

(B) What/the blue dress

(C) Which/the blue

(D) Which/the blue one

https://www.freshersnow.com/previous-year-question-papers/

35. How many companies shared the
cost of constructing the pipeline?
(A) 3
(B) 4
() 8
(D) 12

I1/2-A
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39. Find the passive voice form of the
following  sentence from  the
alternatives given below :

Bob won’t repair my car until
tomorrow.

(A) My car won’t repair Bob until
tomorrow.

(B) My car would not be repaired by
Bob until tomorrow.

(C) My car will not be repaired by
Bob until tomorrow.

(D) None of the above

40. Didn’t he his leg last summer?

(A) breaking

(B) broken
(C) broke
(D) break

41. ‘At one’s wit’s end’ means
(A) perplexed
(B) clear up
(C) explain

(D) enlighten

42. Which group of words from the
following means ‘agnostic’?

(A) One who is not sure about God’s
existence

(B) One who believes in God’s

existence

(C) One having different styles of
living

(D) None of the above

Directions Read the following poem
carefully and answer the questions (Q. Nos.
43 to 47) by choosing the correct
alternative given below :

Not gold, but only men can make

A people great and strong;

Men who, for truth and honor’s sake,
Stand fast and suffer long.

Brave men who work while others sleep,
Who dare while others fly...

They build a nation’s pillars deep

And lift them to the sky.

43. ‘A people’ in the poem stands for
(A) common man
(B) a nation
(C) a group
(D) None of the above
44. A nation and a building both require

(A) people
(B) security
(C) wealth

(D) deep foundation

45. ‘Honor’s sake’ in the poem means
(A) for their own honour
(B) for the sake of other people
(C) for their pride

(D) for the sake of nation’s honour

46. ‘Others fly’ in the poem means

(A) they run away in the face of
danger

(B) they reach higher levels
(C) they become the heroes
(D) they react quickl

https://www.freshersnow.com/previous-year-question-papers
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47. A nation does not require

48.

(A) material wealth

(B) idlers and cowards
(C) hard working people
(D) courageous people

Fill in the blank with the right
article from the following options :

The camel is ship of the desert.

(A) an

B) a

(C) the

(D) None of the above

50. An incorrect form of sentence is

51.

52.

given below. Choose the correct
sentence from the following :
Whose idea was it to eat here
grumbled mr. Sharma.

(A) Whose idea was it to eat here
grumbled Mr. Sharma?

(B) Whose idea was it to eat here?,
grumbled Mr. Sharma.

(C) Whose idea was it to eat here,
grumbled mr. Sharma.

(D) “Whose idea was it to eat here?”

grumbled Mr. Sharma.

What is IPA?

(A) Indo-Pak Association

(B) Indian Phonetic Association
(C) International Phonetic Alphabet

(D) None of the above

Which of the following is kinds of
speaking situations in which we find
ourselves?

(1) Interactive

(2) Partially interactive
(3) Non-interactive

(A) Only (1)

(B) Only (2)

(€) (1) and (2)

(D) (1), (2) and (3)

https://www.freshersnow.com/previous-year-question-papers/

49, Fill in the blank with the
appropriate word from the following
options :

is a good exercise.
(A) Swam
(B) Swimming
(C) Swim
(D) None of the above
I1/2-A
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53.

54.

55.

Which one of the following is not
one of the stages of learning?

(A) Acquisition

(B) Maintenance

(C) Generalization

(D) Adoptation

Halliday identified seven functions
that language has for children in

their early years. Which one of the
following is not one of them?

(A) Instrumental
(B) Regulatory
(C) Interactional

(D) Reflective

What should be the order for the
process of remedial teaching?

(1) Collecting and preparing the
support materials

(2) Adapting the curriculum

(3) Choosing the
teaching strategies

appropriate

(4) Organizing teaching materials
(5) Setting teaching objectives

(A) 5,2, 4, 3,1

B) 5,3, 4,1, 2

C) 3,5,4,2,1

D) 1, 2, 3, 4, 5

57. What

58.

59.

60.

does
include?

teaching of prose

(A) Novel
(B) Composition
(C) Story

(D) All of the above

What is the nucleus in a syllable?
(A) Vowel

(B) Consonant

(C) Both of the above

(D) None of the above

Which method
theory “From
generalization”?

is based on the
example to

(A) Deductive method
(B) Inductive method
(C) Incidental method

(D) None of the above

Keeping in view the significance of
textbook, what should one keep in
his/her mind while selecting a text-
book?

(A) Age, interest and individual

differences

(B) The cover should be attractive
and qualitative

(C) Textbook should cover the
objectives of the subject
(D) The publisher of the book

should be well-known

https://www.freshersnow.com/previous-year-question-papers/

56. The word ‘education’ will be stressed
on
(A) first syllable
(B) fourth syllable
(C) second syllable
(D) third syllable
I1/2-A
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wl—III : e {—II

BlG)

e « SRR ol 2icT 61 TR (AF 66 TR
F Teq WIS |

“Sierg ace, TN wee Walfrers 'ce
QIR ©U ' @ e TR i,
wifarte -2 e $ FO 2°0e T4 5
AR B (TE-FICE FEACR % !

o[ A G e 23 BN, —
YOI SIHE ST 29T, OIRICwE ol SR !
REGR FE@ FWe (K OIwd WiReT (@reri—
FIPE oy 18 S A= Gio oeel !’

61. ‘wce’ *wog o oo

(A) esf
(B) SIPICH
(C) T

(D) e

62. ‘GRCICES *fba ARy FICT 3
(A) G=e + Trael

(B) &< + gl

(C) &&= + Tael

(D) &7 + = + Trmol

63.

64.

65.

66.

‘RE-ge’ *Aod AR FACE 20

(A) T T @

(B) R =t

(C) Ra-Ra g@m
(D) TR (T8

‘Tg-“Nfd > TG’ 2cew
(A) 2mCE
(B) IFICH
(C) “ReT

(D) SR

QIR OIME SICS 24, . !

ey afs ==
(A) FTEP

(B) IAFRS
(C) ST

(D) IR

“SofeT’ *RAfog ol w1ef =o
(A) DeeET

B) fe=
(C) ===l

(D) Twrel

https://www.freshersnow.com/previous-year-question-papers/
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e« RS erefer Sioe Tedl fdoe W | 71, TR THRIPIGA (314 20T
67 R (AT 90 R AT Teq WIS |
(A) STEPER TR

67. IR FreIM SR @ FIE TN (B) TR TN

(A) “TRAOE
(C) ATSCHR ]

(B) ‘qrirersar’ |

(©) e’ (D) @AM CRAIATGR

(D) T4 Foe T

72. ‘omema WRC T 29 S

68. I[N IFGIPT I OR IIE@H YR o

IRE e I e (A) 1932 5icar

INIRGIIG

) (B) 1936 2%

(B) T

©) AR (C) 1938 %I

(D) <t (D) ToIcad (FRILE
69. I FIM 7O (i Lo fest 73. Tarowee A @4 @IH QRSP

(A) @ oF 24

(B) & (A) ‘Pree-Rer’

(©) = (B) ‘<

D) %%

) (C) “T=IF’
70. ““CoceT P eTeceT et Y (D) ‘BrmswRE’

KGR
COIET (PR 08l (A1l SRS
CoCe O I | 74, ‘mefier TRl fo

—&3 7<f& 7fo fercecea

(A) oI CIBRF-1
(A) PR TR
(B) Seormfoam ARchEt (B) +Tespe] N -
(C) T () =TT
(D) TersFa] BT (D) CRW Jere<roe-q

' https://WWW.freshersnow.com/previous-year-question-papérs/
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75. AEI6cE REer o<t e 79. T > 2P, @R ARTEEE WiTelgs Faqi

Ll
(A) Ry z7=’-9
(A) T
(B) ‘Resiw w297 -(@
(B) «PRHIEA
(C) ‘TR WA -9
(©) RSz
(D) TR (@b T
(D) TR (FFI0E R

76. I TASFE (SICoNTE SR =5

80. YRS Hfffafeq I25 I TGO

A) 2o 8 (FHREE

A) e (A) el ToreRR
(B) iget e B (B) 0! Toremm
(C) vl @ TR (C) TSI ToremE
(D) WeT2 € =g

(D) I ToreRE

77. W AF S AR TR 2 81. “‘ya IR T2 T 17

(A) A CACF 7T X e aRmeHfh 2e
(B) “I%ew*l (A Terfiea] *rordn () FHFEe
(C) T (/TP 7l Xrorl (B) SAAMTPIR
(D) B (A B *Torl (C) HTIRe
(D) FEFEE
78. o WIe BfHel I 1”7
< el 82. Py + wfs = ?
(A) = e SRR e (A) TarEe
(B) W e S e (B) Frafe
(C) Y A<E S feiwsfey (C) Torgfe
(D) ol (FMb2 7/ (D) FPrarEfe

Https://WWW.freshersnow.com/previous-year-q uestion-papers/
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83.

84.

85.

86.

*, F, N, 2—USCECE el 27
A) TR

(B) =TPERef

(C) weneref

(D) SR

GRS e R
(A) 7 *=7

(B) o ==

(C) IO *F

(D) T *

e A = S T— BRI G2 P
2
(A) =3 P
(B) =R A
(C) SR 3N

(D) F=dif2 ST

‘wwel” =il 2% GlH
(A) = ==

(B) Srum *1

(C) SIRMF Wz *F

(D) TorcsE

I1/2-A

18

87. ‘M’ -9F MIYF *F 25

88.

89.

90.

(A) T
(B) T4l
(C) A=

(D) @™

P WAB-T AT FAC B
(A) SEpTSl

(B) =P

(C) SePTel

(D) TR (T2

PRI 2Coq &1 7 7ed A, AW OF
(A) RIS @T4R =P o1 6

(B) T4 TR T 1

(C) (o141 T AN 1 =

(D) ©#Icsq Faeo2

GG (AP OLel2 IFe ACe] AT 23,
4 Tofe

(A) PreRifcne 99 FC “I0IE

(B) Frwi@icr Teofes e

(C) FERRICR TP AR SBHS 2@
(D) T RS2

y W . .
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Candidates have to answer Question
Nos. 91 to 150 Either from Part—IV
(Mathematics and Science) Or from

Part—V (Social Studies).

AIFFIAHE 2% R4 91 (AT 150 T&g FACS 2
27 S-IV (9lf® @R @) (A =77 ©19-V
(TR G |

PART—IV / <i5i—IV
MATHEMATICS AND SCIENCE / ffe ¢ faem

Directions : Answer the following questions
by selecting the correct option.

91. In the following figure, AB 1 BD. Cis
joined with P and is produced to E.
Then the value of x is

A . E
y
P
pe
x+14°
.
D C B
(A) 18°
(B) 22°
(C) 25°
(D) None of the above
92. The two diagonals of a quadrilateral

ABCD bisect each other. If LA =70°,
then the value of (£B+ 4£D) will be

(A) 220°
(B) 110°
(C) 200°
(D) None of the above

P « P Tag foiv Feq Mvd AN BTETS
Teq me |

91. it5d @ AB L BD. C 4R P J& I(F
E (g 3 a1 2o, x-9F A4 207

A o E
o
P
X
+14°
D * C [] B
(A) 18°
(B) 22°
(C) 25°
(D) T°[Caq (T2

92. ABCD ¢f beered 3 7o *Re#[3

TEfe® I 1 IWM LA=70° =, A
(£B+ £D)-€3 W 2(J

(A) 220°
(B) 110°
(C) 200°
(D) T°[Cad (FFD2

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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93.

In AABC, OB and OC are the
bisectors of /B and ZC respectively.
Then the value of ZBOC is

(A) 90° - ;LBAC

(B) 180° - ; ZBAC

(C) 90°+ ; Z/BAC

(D) None of the above

93.

AABC-93 (F¢q OB 8 OC & LB
8 /C-9q WR%F 2, LBOC-99 T
2«

(A) 90° - ;LBAC

(B) 180° - ; ZBAC

(C) 90°+ ; ZBAC

(D) Tolcaa FIGE
94. A rectangular parallelepiped has
number of vertices p, number of 94. &3 A LR (R T8 IR
edges g and number of surfaces r. p, AT RN g GR O IR 1 3¢,
Then the value of (p+g+7) is (p+qg+ )99 9« (<
(A) 26 (A) 26
(B) 12 (B) 12
(C) 20 (C) 20
(D) None of the above (D) T @ o
95. The diameter of a wheel of a car is 95. @ SNTH 5=FE T d )TB | ofs fafaes
d ft. The wheel revolves 56 times 5 56 A9 @A | 1 TES oY Sfew
1r? a minute. To. cover 1 mile FCS NS STy el
distance, the car will take
20 SR
(A) 2; minutes (A) d
30 SR
(B) 30 minutes (B) d
d
40
(@] 49 minutes (C) — R
d d
(D) None of the above (D) T @FMbe
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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96. If the mean and median of a | 96. IM (FCA AMSCAA T & IHA JAGECH
statistical data be 5 and 6 respec- 5 @R 6 3, ©X& @3 TIAF MLLNBTE I
tively, then the value of mode is 3@

(A) 11 (A) 11
(B) 9 (B) 9
(C) 8 (C) 8
(D) None of the above (D) T739 FWe T
97. Ilfwthe rgeajl‘;[ls of ';\I)Vlo dtilsltljibutions ta.lre o7. I ﬁ o4y RIS 51T W My €%
1 and My, while their respective M, =, T wiCE Wl oA
frequencies are f; and f5, then R .
the combined mean of the two TIEH fi @R fop, o [erem vfoq
distributions will be TR N A 2T
M+ M
(A) Ml + M2 (A) 1 2
fi+ fo fit f2
B) Myfi+ Mafo (B) M
( fit fa it ]2
C Mfi+ Myfo (C) Mifi+ Mofa
U VA T My + Mo
(D) None of the above (D) ®CTd (DR T
98. The following pie-charts represent | 98. fa =1i2-foq *Pi Termercs sffoe e
the yield of corn :
Field B
If the yield of field A is 400 kg, then i cwa A"‘KSQW 400 fe.al. =3,
the yield of field B will be O (FE B- A B 2]
(A) 600 kg (A) 600 .27,
(B) 800 kg (B) 800 .21,
(C) 900 kg (C) 900 fF.4m.
(D) None of the above (D) T (b2 T
SPACE FOR ROUGH WORK / ¥ (& &elf SRI6M
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99,

100.

101.

102.

The cost of a generator is ¥ 60,000.
If its value depreciates at the rate of
5% p.a., then its value after two
years will be

(A) ¥ 54,000
(B) ¥ 54,100
(C) ¥ 54,150
(D) None of the above

In a triangle, all of its four special
points are coincident. The triangle is

(A) right-angled triangle
(B) equilateral triangle
(C) isosceles triangle

(D) None of the above

The diagonals AC and BD of a
parallelogram ABCD intersect at O.
If the area of the parallelogram is
62 sq. cm, then the area of AOBC
will be

(A) 155 sq.cm

(B) 16'5 sq. cm

(C) 15 sq. cm

(D) None of the above

The percentage change in the area of
a rectangular field, if its length is
increased by 40% and breadth is
decreased by 10%, is

(A) 26% increase
(B) 30% decrease
(C) 30% increase

(D) None of the above

99,

100.

101.

102.

gfo g Teoms W@ = T 60,000.
I T ARE P W AW 5% =,
O (2 = 7 TGO oV 2

(A) ¥ 54,000

(B) ¥ 54,100

(C) ¥ 54,150

(D) TR @FFve T

el farges o) e oEi [ Treifee
oce, fqesis 2@

(A) T fage

(B) Rz fagw

(C) e fage

(D) T°[Caa (T2

ABCD @[ AC € BD 3 ¥
E O e o w1 A

ANBRF0T T 62 35 LI, =7, o3
AOBC-&3 (qwe 3d

(A) 15-5 35 GLA.

(B) 16-5 35 (1M

(C) 15 3sf @11,

(D) TR (@DR

M G0 TARSIFR T 75 40% AT

T GR A® 10% IFACA 2, @ [I0F

(A) 26% I=
(B) 30% 2™
(C) 30% I
(D) T°[cad (FFD2

I1/2-A

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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103. a and b are two natural numbers | 103. a 9 b ‘{ﬁ? Free MY GF A @
such that a®-b2? is a prime a’-b? 936 @fe A1
number. Then the value of a® — b? is a? - b2 @3 I« 2@

(A) a-b (A) a-b

(B) a+b (B) a+hb

(C) ab (C) ab

(D) None of the above (D) TR Fbe T

104. If (x+3y):Bx+5y)=18:29, then [ 104. M 2x+3y):(Bx+5y)=18:29 =W, oI

x 1y equals x:y 2@
(A) 1:2 A) 1:2
B) 2:3 B) 2:3
(C) 3:4 (C) 3:4
(D) None of the above (D) Toicae @ T
105. If x2-6x+1=0, then the value of 9 5 1
5 1 105. I x% -6x+1=0 T, O@F x +—2ﬂ§
X5+ — is X
X T 24
(A) 30 (A) 30
(B) 34 (B) 34
(C) 32 (C) 32
(D) None of the above (D) T @R T

106. Atca};runs frc()im Afgai;c)alall{to [}idaipué 106. <3 oM 9OF 40 .5, @Cs oo
ar the speead © m/hr an @@ TEE AW GRS (A
returns from Udaipur to Agartala at o & f 2
the speed of 60 km/hr. The average SPITE TV 60 1.1, (qCAT e et |
speed of the car in the journey is O AT FSRACS T 9IfeCIal et
(A) 48 km/hr (A4) 48 f.[./9%!

(B) 50 km/hr (B) 50 .. /951
(C) 43 km/hr (C) 43 fF.M. /9%
(D) None of the above (D) T (b2 T
SPACE FOR ROUGH WORK / ¥ (& el SRIEM
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107.

108.

In the given figure, AABC is
right-angled at C and CD L AB. If
AD =2 cm and AB = 10 cm, then the
length of CD is

A

(A) S cm
(B) 4 cm
(C) 3 cm

(D) None of the above

A businessman sold an article after
allowing 15% and 10% successive
discounts to a customer. If the
businessman would have sold the
article allowing 25% discount at a
time, then

(A) the first type of discount is
profitable to the customer

(B) the second type of discount is
profitable to the customer

(C) both types of discount have
same effect on the customer

107. @we focg ABC ANcail fagces ¢ [mee

108.

I @R CD L AB. I% AD = 2 (i
@R AB = 10 CLW. 2, ©&@ CD-¢T
oy 2@

A

A) 5 LI,
(B) 4 LI,
(C) 3 AL.f.

(D) T°[Cad (FFD2

@I @F FPM 2R=F 15% @R 10%
QT i @ v g 5991 | €2
I G 25% T W@ vl @
S, T2

(A) 22 2FE BICE 4RI TS 200
(B) oSSR 2= 2ICw 4w S reqe 20

(C) T 29[ wCve ARWIEd ToF T
O [T9

(D) None of the above (D) T (b2 T
SPACE FOR ROUGH WORK / HIF J[(&d &ej GRI4N
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109. A dishonest businessman defrauds | 109. < wgw@ RiTFel 8 (Fol T2
to the extent 10% both in buying 10% 3 FE |1 0 AP
and in selling goods. The actual gain W] S I
percent of the businessman is
A 20% (A) 20%
0
B) 21% (B) 21%
(C) 25% (C) 25%
(D) None of the above (D) ™
110. IfV be the volume of a right circular 110. i @ FTILSIPIT g SA ‘I/A,H\Emﬂ
cone, A be the area of the base and CFaTe A €32 Twel H [, OF —-99
H be its height, then the value of v
AH is RIQEIS]
v A) 2
(A) 2 (B) 3
B) 3 ©) 4
(C) 4 (D) To[cad @Mbe o
(D) None of the above
, | 111 012w P S1ca 2/ T (p+ g)-9d
111. If 0-12 is expressed in the form of =, q
h h 1 f( ) ’ e
then the value of (p+q) is
(A) 28 (A) 28
B) 21 B) 21
©) 17 (C) 17
(D) None of the above (D) Tricst ™
1 5 1
112. Ifx+l=3,thenthevalueofxsnLi5 112. i x+;=3§§[, o x +F AR
X X
is Rs
(A) 133 (A) 133
(B) 143 (B) 143
(C) 123 (C) 123
(D) None of the above (D) T (@b T
SPACE FOR ROUGH WORK / ¥ (& el SRIEM
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113. For the equation 113. (x—1)2 +(x—2)2 + (x—3)2 =0

-2+ (x-22+(x-32=0 TR CFCa
(A) values of x are 1, 2, 3 (A) x-9g ¥ 1, 2, 3
(B) values of x are -1, -2, -3 B) x-9g9 9« -1,-2,-3
(C) there is no real value of x (C) x-49 (I AT T (12
(D) None of the above (D) Do (e o

114. The angle between two diagonals of
a rhombus is

114. G I90F M@0 ILS! (T 2o

(A) 80° (A) 80°
(B) 90° (B) 90°
(C) 60° (C) 60°
(D) None of the above (D) T*ER (e

115. How many types of correlation of | 7715, EOSETCE: Bl W@ afre T© 2P
mathematics are there based on the

S[e] = 1R ?

principle of correlation?

a) 3 (A) 3

(B) 4 (B) 4

(€) 5 (C) 5

(D) None of the above (D) TR @FEve T
116. The fifth rule of mathematics is 116. sifice o st 2=

(A) addition rule (A) Qe foraw

(B) division rule (B) o R

(C) the rule for application of

general knowledge (C) TR ST AcAesid forer
(D) None of the above (D) T (b2 T

SPACE FOR ROUGH WORK / ¥ (&S &) GR4N
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117. The

118.

119.

120.

method for progressive or
modern education system is

(A) child-centric method
(B) teacher-centric method
(C) self-learning method

(D) None of the above

The founder of the project method in
teaching is

(A) H. E. Armstrong
(B) Young
(C) John Dewey

(D) None of them

According to Mach, the charac-
teristic of mathematics is

(A) to concise thinking
(B) to expand thinking
(C) to develop civilization

(D) None of the above

“Mathematics is the gateway and
key to all sciences.” It is quoted by

(A) Plato
(B) Bacon
(C) Young

(D) None of them

117. #olfeNiel A1 Sy Frsmie 2e

118.

119.

120.

(A) Prei oo
(B) Precafy “mafe
(C) - =l
(D) To[Caa FIGE

R4 I R ICE TR G
(A) <25, 3. SRR

(B) =®

(C) & foTy

(D) ToCAA (PT2 7

P-4 W alfeices (AP 20
A) TEreR= WREFS T

(B) fosrere @i <=1

(C) ool Rr 41

(D) To[Caa (T2

“ofde B R Ar@EE e

~

SIS 17 TG weam
(A) CATHl

(B) @&

(C) 2

(D) TG (TR

I1/2-A
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121. The digestion of a particular food in | 121. 4l & 9 EH AP T
the small intestine produces amino SINEC SpibTe Seem =W, (R AIHd
acids. The food contains mainly LAY TG 257
(A) carbohydrate (A) FrA=R0Th
(C) vitamin (©) B
(D) protein D) oIS

122, One.micronutrient and one rr.1a0r0— 122, eve cah vRoAmh TS e eaf
nutrient of plants are respectively

PICEF 3@3@ b 25 JUTECH
(A) Fe and Mg Al B M
SRR
(B) N and C (A) Fe ax Mg
(C) P and Zn (B) NawC
(D) S and Ca (C) P YR Zn
(D) S @R Ca

123. The Dbacteria responsible for
fermentation of dairy milk and plant | 123. (SRR 748 Sfees “Micq (el A
product are Tl AT FCOAN 2o
(A) Rhizobium (A) FfEcEIREN
(B) Hay bacillus (B) ¢ PE™
(C) Lactobacillus (C) HCERIIBRI
(D) None of the above (D) o= @ o

124. Bicuspid valv.e is found in 124. Feas 319 A
(A) the left side of heart (A) TeProes aEfice
(i) ;hehrigl';t sidfe ;f heart (B) =<Pced Tl

oth sides of heart s
ED)) 11 th teri f heart (C) =Pres T
a e arteries of hear
(D) ZPICST e qq1Co

125. Conduction in plants occurs
through 125. Tfewm IR 0T Aq24 23 O 26
(A) xylem (A) EIRCeT
(B) phloem (B) @Grica™
(C) Both (A) and (B) (©) (A) 9% (B) T=R
(D) None of the above (D) T (G T

SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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126.

Which of the following statements is
incorrect?

(A) All green plants and blue-green
algae are producers.

(B) Green plants get their food from
organic compounds.

(C) Producers prepare their own

food from inorganic compounds.
(D) Plants convert solar energy into
chemical energy.

126. {HRIROSCER & (T TS0 AT 1’ 2

(A) T8 & Tfew q3R TeT-_{& v
75 TR |

(B) & Tfew ©ind 4w 22e A (O
(6l (A |

(C) TP Sl 4 (od! A S
@6l (AT |

(D) Tfer Cifecs PR *fece
faf$e ¢ |

127. Energy flow in the food web is 127. 4F-SEe W0 X 212

(A) unidirectional (A) “Wﬂ%

(B) multidirectional (B) @E@f

(C) Both (A) and (B) (C) (A) &=k (B) Tew2

(D) None of the above (D) T @rG2 7
128. Which of the following is used as | 128, fFfIResEE W @G NS T

fertilizer? 304 I 2 2

(A) Nitrogen (A) CIEneea]

(B) CaO (B) CaO

(C) CaNCN (C) CaNCN

(D) All of the above (D) Telca FRQCeTR
129. In surface irrigation, water is

distributed across the land by 129. $OeI-CIb e e =

(A) gravity (A) ST

(B) pump (B) #C=ag =l

(C) Both (A) and (B) (©) (8) ¢ (B) ToH

(D) None of the above (D) T (B2
130. The pH of a typical acid rain is 130. WW@Z{ pH 291

(A) 7-6-6 (A) 7-6'6

(B) 6:6-6 (B) 6:6-6

(C) < 56 (C) < 56

(D) None of the above (D) T77 FWbe T

SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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131. Bhopal Gas Tragedy of 1984 took | 131. 1984 e $oMeT AT Wﬂﬁ T 26
place because methyl isocyanide @ [23e SREPTRIARE [ SR
reacte‘d with (A) RIS A
(A) nitrogen
(B) water (B) T e
(C) carbon dioxide (C) PR TISHRCTH A%

(D) All of the above (D) T#CHq STRcenS

132. The straight line AB in the graph | 132, Sisg @T4f5ca JeE@ AB

shown below indicates the
1 B ! B
Velocity / o
A
A
TR —>

Time —>
(A) constant acceleration (A) el e e
(B) increase in acceleration (B) e[ 3= ;ﬁ% Bl
(C) constant displacement with

time (C) TCaS 3 G2 5 S F

(D) None of the above (D) TS (FIO2 T

133. A ball of mass 150 g moving with | 133. 20 m/s2 Qe 150 g S| i
an acceleration 20 m/s2 is hit by a @ 01 s AW 4T WA F4 2 |
force which acts on it for 0-1 s. The OEGRISEK]
impulse is

(A) 1'2 N s (B) 0:3 N s
(A) 1'2 N s (B) 0.3 N s a 01 N D) 05 N
C) 01Ns (D) 05N s © s D S

134. x °C = x °F, when the value of x is 134. x °C = x °F, T X~ A 2o
(A) O (B) - 29 (A) O (B) —29
(C) —-68 (D) —40 (C) -68 (D) - 40

135. In which medium, sound travels | 135. (FIF MHE *F7 ST IR ?

D

fasters: . (A)

(A) Solid B

(B) Liquid (B) A

(C) Gas (C) TP

(D) Vacuum (D) W

SPACE FOR ROUGH WORK / I (&9 &) SRIAl
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136. Electroscope was invented by 136. 3CEIZCE7 SREE AR
(A) William Gilbert (A) Tferny faemain
(B) Benjamin Franklin (B) @I FERMA
(C) Sir Isaac Newton
C . o
(D) None of them © TW
(D) TR (%2
137. The force between two charges is
900 N. If the distance between the | 137. ¥[b SIIGE N¢§ e #9900 N.
charges. becomes three times, the G M IR =g Al fes1 o9 fomee =7,
force will be T2 S WC A AT 203
Eg)) :;’88 E (A) 300 N
©) 30 N (B) 100 N
(D) None of the above (€) 30N
. (D) TR @bR T
138. The image formed by a convex
mirror will 138. Teel wHfcod Afolm
(A) always be real (A) ST M T
(B) always be projected (B) TR wifefe (projected) 23
(C) always be virtual c
(D) never be virtual © ' =
o : (D) P =P =27 A1
139. If an object is placed at a distance of
30 cm from a convex lens of focal | 1839. 20 @1.fN. @< LESRNG GG Tae (o
length 20 cm, then the nature and A 30 AL L&l M (@ TR/ AT,
magnification of the image will be Srace O AfefeEd o ¢ [{ad 2
Eg)) ?reCtta;ld twodtlmefs magnfied (A) CTEl G- T{(@‘TWE
inverte an our imes
magnified (B) Teebl @R BRI e
(C) erect and four times magnified (C) CTren @<k b faafife
(D) inverted and two times (D) SO @R 789 ISRIES
magnified
140. &M ORI 930 W OF q=E@ GF
140. The solar planet that has a day 99
longer than its year is
g y a) T4
(A) Mercury .
(B) Venus (B) s
(C) Jupiter (C) Jz=ifs
(D) Saturn (D) =
SPACE FOR ROUGH WORK / qIF IC&d &) Al
ps://iwww.Treshersnow.com/previous-year-question-papers
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141. The solar planet made up of mainly | 141. @ CTR2[0 Z4Tos I W@ Codl 2
gas is (A) T4 (B) W%
(A) Mercury (B) Venus c b oA
(C) Mars (D) Jupiter (C) == (D) g2
142. Which of the following is not a | 142. fafERoswEn T @A S @ 77 2
property of acids? . (A) =T BTEIPICE et e
A) Turni d lit
(A) ur1t11ng red litmus blue B) o
(B) Having a sour taste o
(C) Yielding hydrogen ions (C) R=cges SE o
(D) Being proton donors (D) (2B ¥ FCS 7M1CH
143. According to electrochemi(.:al series, | 143. wfee-gpEfas A Wﬁ e
{lﬁ’dmgertl_ cantot be Oftimde‘il fgom fRgelis b e @ e
e reaction of concentrated hydro- =
chloric acid and the element SR PO MG 12
(A) Na (B) K (A) Na (B) K
(C) Ca (D) Au (C) Ca (D) Au
144. Which of the f(.)ll.owing elements can | 44 A7 @ (T e Afeg e 2
conduct electricity?
(A) S (B) P (A) S B) P
(C) Br (D) C (C) Br (D) C
145. The ratio between the total number | 145, groq (& MY € FYSI GNEl LT
of metal elements‘ and that of S 75
non-metal elements is
(A) greater than 1 (&) 1-99 o @
(B) lesser than 1 B) 1-499 (@& <9
(C) equal to 1 (C) 1-99 94
146. Which of the following statements is
(A) Making mixture is always a A) g @ T @ ©
physical change. o[fgqee |
(B) Making mixture is always a (B) fre fom o @ (e @
physical as well as & chemica s TR e
(C) Making mixture is always a (©) fma fem 7omm @3 PR
chemical change. SIS |
(D) None of the above (D) T (@b T
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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147.

Lustre of the non-metal can be seen
in

147. 536¢3 (Lustre) SHF (el 29

(A) TETFR
(A) sulphur
(B) TN
(B) phosphorus
(C) iodine (C) S
(D) All of the above (D) ToCs™ FALTeTR
148. The aim of science education is 148. e MreE o7 261
(A) to acquire the ‘kn(.)wledge of (A) 2TofEF SR TREa (ke Tt e
fundamental p‘r1n01p‘les ‘ and QR T G TS |
concepts useful in daily life
(B) to organize and interpret the (B) Fro Te S I8 AR
functions of nature Al
(C) Both (A) and (B) (C) (A) 9% (B) =2
(D) None of the above (D) T4EF @Fhe o
149. The role of a science teacher is 149. o e e m =1
(A) to develop skills of scientific ~ ~ -
inquiry (A) <RI TP wPold Sade pdl
(B) to motivate for higher study (B) TN Tl SeaTfers
(C) to show the differences of (C) B0 6¢ﬂ]ﬁw1cﬂﬁﬂﬁww
domains between science and Nl Al
arts
(D) ToIEA ISR
(D) All of the above
150. Which of the following statements is 150. FRT® TETSCEAR T4 (D 797 2
true? (A) Rerpmeseg =948 8 SO
(A) Scientific achievement is always ﬁ{@ 7 |
perfect. B) o a— S—— .
(B) Scientific achievement cannot ] T A |
be challenged.
L . [ PTHOSI(J .
(C) Scientific achievement stands (€) e \;:9 W\me RIS
on its history. 2O B9 VB AC |
(D) History has no relation with (D) ez e e (e F=orf
science. 12 |
SPACE FOR ROUGH WORK / I (&9 &) SRIAN
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Candidates have to answer Question Nos. 91
to 150 Either from Part—IV (Mathematics
and Science)
Studies).

Or from Part—V

(Social

AIFIE 2p R 91 (AcF 150 Ted FCS [
¥ oIV (sfde @R [RE@m) @@ 9397 sn—V
(SR (A |

PART—V [/ w9—V
SOCIAL STUDIES / &<

it : J0F Teg v a5 Tova opsfer

Directions : Answer the following questions
by selecting the correct option.

91.

92.

93.

94,

95.

I1/2-A

The dockyard of the Indus Valley
Civilization has been discovered at

(A) Mohenjo Daro

(B) Harappa

(C) Lothal

(D) None of the above

Northern India was known as

‘Aryavarta’ during the
(A) Vedic period

(B) Gupta period

(C) Maurya period
(D) None of the above

The last Tirthankara of Jainism was
(A) Parshvanath

(B) Mahavira

(C) Ajitnath

(D) None of them

Gautam Buddha delivered his first
sermon at

(A) Sarnath

(B) Gaya

(C) Rajgriha

(D) None of the above
After the Kalinga War,
adopted the Policy of

(A) Ahimsa

(B) Dharmavijaya

Ashoka

(C) Digvijaya
(D) None of the above

Teq wie |

91.

92.

93.

924.

95.

PrpTerer crer =g 2
(A) SCRCEMICCS

(B) ZA3ICS

(C) MR

(D) T°[Caa (FFI02

Teq OIS TS’ 7w “Ifibe &
(A) G Jeal

(B) @l

(C) ¢ Jesl

(D) TR @be T

ComHea(a AR Siefq e
(A) =Pl

(B) w2

(C) SifSrel

(D) GME (FT2 T

(TSR SR 2L {2 (el
(A) TR

(B) 9RICS

(C) Wiz

(D) TR (FFD2

Tt Yo 79 AP
(A) IfELT TS oz Fea
(B) «fRew s 229 =
(C) Tl S 2129 Feaw
(D) TR (@DR
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96.

97.

98.

99.

100.

I1/2-A

During the Gupta
Varahamihira was a/an

Age,

(A) sculptor
(B) artist
(C) scientist

(D) None of the above

The origin of Dravidian style of
architecture in South India started
with

(A) the Pallavas
(B) the Cholas
(C) the Chalukyas
(D) None of them

The First Battle of Tarain was fought
in the year

(A) 1191 AD
(B) 1192 AD
(C) 1193 AD
(D) None of the above

Bhakti means

(A) devotion to God

(B) sacrifice for God

(C) reluctance towards God

(D) None of the above

Between whom was the Second
Battle of Panipat fought?

(A) Babar and Rana Pratap
(B) Akbar and Hemu
(C) Akbar and Sher Shah

(D) None of them

96.

97.

98.

99,

100.

B TR oo G
(A) =%

(B) foaa

(C) Rt

(D) TR (T2

v SRCed FPce wike e Telkw
T

(A) fE=a

(B) (O

(C) SR

(D) GT7F (FT3 T

SRR AW Iw 2
(A) 1191 ZBrcw
(B) 1192 B
(C) 1193 B
(D) TR @Hb2

& 2e

(A) Secas fe sal
(B) ST &) SISOl
(C) 5re9 T5Cw gl

(D) T9d @3 T

@SR “Mf7[cem Im PO T BCARE 2

(A) TRE QR FNSICF [

(B) S @R &g Wew
(C) SRR 3R CRMICRR [0

(D) GMF (T2
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101.

102.

103.

104.

105.

I1/2-A

The ‘Buland Darwaza’, a famous
Mughal architectural monument, is
located in

(A) Secunderabad

(B) Agra Fort

(C) Fatehpur Sikri
(D) None of the above

Two Generals of Siraj-ud-Daulah
who fought against the English were

(A) Amir Chand and Mohanlal

(B) Mir Madan and Shaukat Jung
(C) Mohanlal and Mir Madan

(D) None of them

The social evil ‘Sati’ was prohibited
in the year

(A) 1828 AD
(B) 1829 AD
(C) 1830 AD
(D) None of the above

Which Charter Act first granted one
lakh rupees for the cause of
Education of Indians?

(A) 1813 AD
(B) 1833 AD
(C) 1854 AD
(D) None of the above

How many marriage forms are there
among the Tripuris?

(A) 2
(B) 3
(€) 1
(D) None of the above

101.

102.

103.

104.

105.

faqre o wewew  Wfews e
v SaEe

(A) CIFERIT

(B) 2T (FER

(C) Fce~[ Pifgce

(D) TocER @FoE T

e [ Jae PrrecnaE 2o
IS fecem

(A) RO @R e

(B) TEsWel @3} TR B-

(C) CTETeTe @R SEael

(D) TR (T3 7T

sICeE e e fafm scfeE

(A) 1828 ZBCH

(B) 1829 B

(C) 1830 e

(D) Tolcaa FRIGE

(I DI SHICE 212 SRORME Rl &)
G T I Sl (TS 77 2

(A) 1813 e

(B) 1833 B

(C) 1854 B

(D) TR @Fb2

@ [@iom o FW gFF (@@ 29
25eT® 2

(A) 2

(B) 3

€)1

(D) TR @AbE T
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106. The average circumference of the | 106. 73 T K =&
earth is
(A) 25000 5.1,
(A) 25000 km
B) 40001 km (B) 40001 f&.fa.
(©) 40000 km (C) 40000 f.f.
(D) None of the above (D) T (bR
107. The longitude of Greenwich is | 107. Afcod @ifes @21fba Sl 2=
extended at
(A) 1°
(A) 1°
(B) 0°
(B) 0°
(C) 0°30’
(C) 0°30’
(D) TR @HbR
(D) None of the above
108. The Barysphere is made of 108. oo ©
(A) silica and nickel (&) el @3 Fieeat ==
(B) aluminium and nickel (B) Ui e ficeet =
(C) nickel and ferrous (C) TIcer R M2 =[l
(D) None of the above (D) T @Fbe o
109. tS;lalfe lis t.rar}r)sformed into which of 109. ¢ FelEEe =0 T0vd @B 2
e following®
(A) Marble (A) s
(B) Slate (B) cxfb
(C) China clay (C) DR (F
(D) None of the above (D) TeEE @i
https://www.freshersnow.com/previous-year-question-papers/
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110.

111.

112.

113.

114.

I1/2-A

Which depositional landform is
produced by sea waves?

(A) Bar

(B) Sea cave

(C) Stack

(D) None of the above

The tropopause layer is situated
between

(A) stratosphere and mesosphere
(B) troposphere and stratosphere
(C) stratosphere and mesopause

(D) None of the above

‘Sargasso Sea’ is found in the

centre of

(A) the Pacific Ocean
(B) the Atlantic Ocean
(C) the Indian Ocean

(D) None of the above

Exfoliation is the effect of

(A) maximum temperature

(B) maximum pressure

(C) maximum cooling

(D) None of the above

In India, the maximum rural
settlement is found in

(A) Jammu and Kashmir

(B) West Bengal

(C) Kerala

(D) None of the above

110.

111.

112.

113.

114.

TG SHCHT AT A BNl 2o
(A) ™

(B) 7 32

(C) 7%

(D) TR (@DR

Geeollo B S[Ee

(A) HIIFRIR G3R IOTPERAIER W4
(B) GeolFera @R SHICOIPERICRR w1ca
(C) SHIGIFFIR <2 (T T4
(D) TR (DR

‘RIS M (TACS LN T
(A) 28 2P

(B) SIGENIGF TZPISC

(C) IS TP

(D) TR (@DR

G 2

(A) 8T SNAE &
(B) & BICo &y

(C) fEF MoaFace Sl
(D) Tocad (bR

SRS IS [ amieie o=l [
(A) Y S P

(B) o

(C) FAFA

(D) TR (@DR
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115. The earliest modern means of [ 115. w99y @T{ﬁﬁs QIRIQIRESISEIET]

communication system is
(A) TF @I COferens
(A) Post and Telegraph

(B) M~ € Sy Yfwe [
(B) Press and Print Media

(C) 7SR & THECH 7T

(D) Ffaw Toterz

(C) Telephone and Internet

(D) satellites

116. SRCeF F3 0T eI @1 27
116. Black cotton soil of India is called

A) M
(A) khadar A
(B) bhangar (B) S
(C) regur (€) s
(D) T @FMbe

(D) None of the above

117. @3 [Gare Aameas afvs smef @@

117. A famous atomic mineral found &@W (FTS <SR T, 1S 29

along the Kerala coast is

(A) uranium (A) STcEFRN

(B) zirconium (B) femciforam

(C) thorium (C) cfR

(D) None of the above (D) T @GR

118. Oilseeds are very important group of 118. (oeRIEgf 2o @W"i‘f

(A) food crops (A) AP

(B) commercial crops (B) <ffenss =7

(C) plantation crops (C) st =Py

(D) None of the above (D) TR @FMbe T

https://www.freshersnow.com/previous-year-question-papers/
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119.

120.

121.

122.

123.

I1/2-A

A coal-based iron and steel centre is
located in

(A) ‘Ruhr’ of Germany
(B) Ukraine

(C) Cleveland

(D) Salem

The word ‘hazard’ is derived from

(A) British English and American
English

(B) French and Arabic languages
(C) Hindi and Urdu languages

(D) None of the above

Who wrote the book, Caste in Indian
Politics?

(A) Rajni Kothari

(B) R. P. Dutta

(C) M. K. Gandhi

(D) None of them

“Man is a political animal.” Who said
this?

(A) Plato

(B) Aristotle

(C) Auguste Comte

(D) None of them

Who is
Sociology?

regarded as Father of

(A) Auguste Comte
(B) Herbert Spencer
(C) Plato

(D) None of them

119.

120.

121.

122.

123.

L -(FUF G0 GM2-T700 FEd™
EGl

(A) wEEE e
(B) 2T

(C) FreemS
(D) TICTN

‘Hazard’ *@ifoq Tesife 23

(A) I TS R ERSE @
(A

(B) &% @R R4 SR (AT

(C) faf% w3z o o/l (2

(D) TG (IR

Caste in Indian Politics 2% &
fercaces 2

(A) Tl IR

(B) 3. . we

(C) «¥. . a4

(D) d7& (T3

“T T TS &1 17 TRt FE 2
(A) 2ol

(B) =mifaE5at

(C) =B (F®

(D) G (Y3

NATEOCES GrelP PICH el 27 ?
(A) =8 &

(B) TG CooRPTR

(C) Cahl

(D) 7R (T3 I

https://www.freshersnow.com/previous-year-question-papers/

40



124.

125.

126.

127.

128.

I1/2-A

“Family is an organic unit.” Who
propounded?

(A) Maclver

(B) C. H. Page

(C) Nimkoff

(D) Gisbert

“It transfers cultural elements from
one generation to another.” What
is it?

(A) Family

(B) School

(C) College

(D) Institution

Who was the Chairman of the
Drafting Committee of the Indian
Constitution?

(A) Dr. Rajendra Prasad
(B) B. R. Ambedkar

(C) K. M. Munshi

(D) None of them

The Constitution of India was

formally inaugurated on
(A) 26th November, 1949
(B) 25th November, 1950
(C) 26th January, 1950
(D) None of the above

Right to elementary education in
India has been included under the

(A) Article 19A
(B) Article 19(1)C
(C) Article 20
(D) Article 21A

124.

125.

126.

127.

128.

AT 2% 96 0T 9T 1”7 eI
(A) TFEEE

(B) P1. @%b, (o1&

(C) FRFz

(D) &b

“qib 9T AT (A T ASCAT [

WEFRe  TAMEIRRE  TEE e 1
«ft 2

(A) eIfsa=

(B) fmrer

(C) wRmieT

(D) dfewrPiz

SIEIACE IR RS IO B I B 5| I BT
TS (& fogem 2

(A) T2 AT 2PIW

(B) R. o7 ScIw=d

(C) . @¥. A

(D) TR (T3 7

SE(ACE B NERIC I G IC oS o MR

F@ERE

(A) 2601 T, 1949
(B) 25¢ 7ceFd, 1950
(C) 26¢ SRR, 1950
(D) T°[Cad (T2
ORCS AT R SRR Twee A
FRRICT

(A) «=T 19A

(B) &I 19(1)C

(C) =120

(D) &= 21A
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129. Who said the Constitution of India | 129. TSI RYTEF & ‘Wzﬁ—ﬂ\@ﬁ @T{.’ ¢

as quasi-federal? wfefze Face 2
(A) Ivor Jennings (A) =TT (Sl
(B) Austin (B) w3

(C) K. C. Wheare ©) . B erE
(D) Ambedkar (D) ST

130. The term of Jammu and Kashmir

Legislative Assembly is 130. & <R o ST G 2T

(A) 5 years (A4) 5 <=
(B) 6 years (B) 6 3=d
(C) 4 years (C) 4 7=
(D) None of the above (D) ToCE (PIRIGE

131. Who was the first Chief Election | 131. SHred 29 I & fem@ @

Commissioner of India? e 2

(A) Sukumar Sen (A) PR O
(B) T. N. Basu (B) 5. @, ]
(C) P. N. Bhagwati (C) 1. @7, woel

(D) None of them (D) <o T T

132. Who can dissolve the Legislative

Assembly of a State? 132. (< %7 A2epTel (o7 fWee s ?

(A) President (a) wg=fe
(B) Chief Minister (B) T
(C) Chief Justice (C) a1 RoReifs
(D) None of them (D) TR (FEB 7

https://www.freshersnow.com/previous-year-question-papers/
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133. Who can amend the Constitution? 133. (& RYE AN FACO 2T 2

(A) Parliament (A) IefeaD
(B) State Legislative Assembly (B) ey STl
(C) President (C) B
(D) All of them (D) Tolaa Saces
134. Who is the custodian of
Fundamental Rights in India? 134, OECS (Nfer TP FTST (F 2
(A) Prime Minister (A) T
(B) Parliament (B) Efa%
(C) Supreme Court (C) ?_[F‘ZW i

(D) None of them (D) 4T@ T2 T

135. The Panchayat Election took place fr o
for the first time in Tripura in 135. 1962 el WA 2= “IeIeHe

1962 at T =

(A) Old Agartala Block (A)  “[TOT SO HCP
(B) Mohanpur Block (B) (279 dC

(C) Jirania Block (C) fE=emn 7

(D) None of the above (D) TR FFvE T

136. Social Studies is a study of
Y 136. ISR SEe 1 2

(A) Sociology and History

(A) TS @ 3o
(B) History and Civics _

(B) 3fezpT @ (Mafqem

(C) Geography, Civics and History

C) © TR 8 39
(D) Geography, Economics, Civics (C) geolel, CTIIears @ <=

and History (D) geallE, wieAife, (TR € 3fogpT

137. Social Studies belongs to 137. SR RFeer STels |

faculty.

(A) Physical Science (A) =i e
(B) Biological Science (B) &R

(C) Social Science (C) ISR
(D) Humanities (D)  GISEd
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138.

139.

140.

141.

I1/2-A

The main approaches of Social

Studies are

(A) child-centred

(B) society-centred

(C) subject-centred

(D) All of the above

According to Ellis (1977), major role
of the teacher of Social Studies is
(A) dispensing of information

(B) facilitation of learning

(C) Both (A) and (B)

(D) guidance for learning
Questioning, a powerful technique of
teaching in Social Studies, facilitates
high order of thinking skills like
(A) analysis

(B) synthesis and evaluation

(C) analysis and evaluation

(D) analysis, synthesis and evalua-
tion

In Social Studies, ‘fieldwork’ helps
the students to learn about

(A) actual social phenomena

(B) techniques of data collection
and its analysis

(C) evaluation of social phenomena

(D) All of the above

138. STSRWIF AL AU Tafosf] 26

139.

140.

141.

A) Frahe

(B) TSP

(C) Rz

(D) TP SR

Ellis (1977)-43 S¢S, el Hrscse
24 BRIl 2

(A) ©2 2@ 91

(B) Trsce el emie 91

(C) (A) ¢ (B) T=rR

(D) PERCe ST=RIS! 1

2 91, SIS frEeer @ *feen
1afe, foumies mrel ¢ Tewfer 3 ¢,
@

A) Roema

(B) FRCHT € TR

(C) Rezma e Jemr

(D) fRear™el, e 8 Yo
QESICA (I R 2R ¢ ?
(A) =Fe AN qoaen

(B) ©21 WacEN cafesll ¢ MR
S RE6 L

(C) THITES FHIRE JonRe

(D) TR SR
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142,

143.

144.

145.

146.

Line graph, which is wused in
teaching of Social Studies, means
(A) it depicts changes in the value

of one variable in relation to
another variable
(B) it represents a change in the
form of ‘bar graph’
Both (A) and (B)

None of the above

(€)
(D)
Values related to Social Studies
learning can be grouped into

(A) behavioural values

(B) substantive values

(C) procedural values
(D) All of the above

Genuine instructional process must
have the component

(A) planning

(B) execution

(C) monitoring and feedback
mechanism

(D) All of the above

Directive of National Curriculum
Framework was enacted in the year

(A) 2000 AD
(B) 2002 AD
(C) 2005 AD
(D) 2006 AD

When a teacher evaluates students
unit-wise periodically and conducts
at the end of the course a
comprehensive test, then it is called
as

(A)
(B)
(©)
(D) None of the above

comprehensive process
continuous process

formative process

142.

143.

144.

145.

146.

B DT ) s O ) i L B B T B S0
EXMCERCRIES|

A) @t @ veF MY T FAEA
TP oS ARG e e

(B) @ft A A -9F SoeTS  HARE
SIRIE]

(©) (A) s (B) Tow

(D) To[caa (FAIGE

et R s f[Fera f[eifere
F @S IR ?

(A) TS FOCaY

(B) fRagere ey

(C) “@fo® A1

(D) TR AR

oS e “Tafed St Tomiefe
Bl

(A) R

(B) IR

(C) SRR @ [fEem
(D) TR AR

GO TGN POCAE o w2
2qre =

(A) 2000 ZBrcH
(B) 2002 B
(C) 2005 2B
(D) 2006 2B

T4 qee P Mg S erg 2o
2ifS T T PO G- (IO O
ST O A0 FALTEF (B8 (e, O
GCF @ =

(A) LT “mfe
(B) oI “M&fe

(C) TWIbe “&fe
(D) TR (@DR

https://www.freshersnow.com/previous-year-question-papers/

I1/2-A

45

[ PTO



147.

148.

149.

150.

SCERT means

(A) Scientific Council for
Educational = Research  and
Training

(B) Scientific Council for
Engineering  Research  and
Training

(C) State Council for Engineering
Research and Training

(D) None of the above

In Social Studies, delivery of a

lecture is done through

phases.

(A) introduction of lecture
(B) development of lecture
(C) consolidation of lecture

(D) All of the above

National Policy of Education (NPE)
was enacted in the year

(A) 1980 AD
(B) 1986 AD
(C) 1990 AD
(D) 1996 AD

When a teacher of Social Studies
evaluates pupils’ learning outcomes
on tolerance of different religions,

languages, regions, political
ideologies, etc., and appreciation,
desirable attitude, commitment,

etc., then this evaluation is called as
(A) cognitive

(B) non-cognitive

(C) summative

(D) formative

147. G1.P2.9E.0. 900 @RI

148.

149.

150.

(A) AEGRFT FICHE T GG

16 @ Gfee

(B) AEAGFE  FEHEE T 3G
o6 @ne G

(C) CTb FITHE e gt 7o e
G

(D) TR (T2

SRR Igeme ¥ W fifed
TR T |

(A) IFOMICE T7=I7MR

(B) IGOMICH RERAIIACR

(C) TTOMICR PREGFACH

(D) T3 M0

ol i (NPE) 29 =3
1980 JBCH
(B) 1986 B
(C) 1990 B
(D) 1996 B

(A)

T GG TS P g o,
SR, S, AT TOqW TOfIE TU

Afegpel THfde FEFE AW AGE P,
T OICP T T

(A) fap
(B) -(Mas
(C) oS
(D) FEIb®
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10.

11.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fd=en SiceT Fea =g

1.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2/fof 2ies Te f2oiiea 1 il faees creall Ol @l (AC @yIa W Teibe (2fFe OMR Tegeicd (redl Jefb et 19Tt T
A T jefmcel e A HiEe F0e 767 | IR Ted fofers w91 2@ (o1 O 9 #/fRada w1 A Al

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

AR (FCTICE2 OMR Teao[@fb OIe Fca 1l | OMR Te=71ca (PGPS 715l 101 1 Ty (o111 ACA =11 | A QI 61w
(A1 IR Tegeica g a1 wrell =l S (T SRe fereae 4 |

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE17[@ 3% 2R47[0a T2ICH IIF o] SReTge FACO 203 | (FICT SEICes (Y00 Ffo @ *Mafosre Ffb 2vl) OMR Tea7[@
S 2P #{ICD (TSN AT Al |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

QPRI SHCHCEH MMo-9 O OMR TeI7(ad FIFE Q<R eocas MFH fgereid fordee 2 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

SAEFICP STCE PTG QR FCHI SBCTHABID FIE BIWI ST (T RIACH] T L Fl9TE, #1071 € WG AL, (7S, (N8 e,
T (IR CTE T [Tz e #[01 20e1/F0F A F00 (1eTl 3¢ 1 |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

IR 20 TSGR TP AN A (o foecd w1313 Wi 63 11 391 2061 200 »[I SR SHefin IS ¢
(Ol SBCTAB FE (THICS G AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTOR FPAIRACECTS 11 SSECeba- a8 [em SRie =Iel 2 _rsidl Qs 2Ce Wi P 2 #R[E Fa0e #=ea 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

“RrPIIce SASIGCSTBIRs (Tl SICETD™] Mb-9 YT FIFa FACS 204, AT #ITF] 20 OIor ST 20T 77 G e
sfeféteneEd 795 OMR Tea @ &=l (Teq™ W |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SCHCTH M15-9 (B FIHA T GR FEIAS BATS GG -7 10 TGH7Iq Tl (763 TS (T~ ] 22 opial T
[T 11 | AW I *RFIR SHCHCD 15-« [2IR R 7l I O fofel O OMR T&I7[@ S| SRl A 910 BT G O
wrfoe S f2oea @ 2 |

Use of any type of calculating device is prohibited.

Q@ (PG RCT FRFCAGCR T2 FT7efee] ol |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[P 21/FCHA A ~RFAR A6 @06 ot @ o st vifers 203 | 914 e Sfos 1 @cda o 6 g
el e 2 |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I TEICS 27 @98 OMR TR0 (PICTI B (=T 1 S <5l (e 1 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

YA (19 2SI 7IC AT T2 O OMR T TS SIS0 FIC2 S (¢ | AT 2p=iafs @iena A
e @ g |
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